e

~ smaller number.  tWo numbers is 10 and one-fifth of their sum is equal to 8. Find the

a) 28
T Ffret g o b) 45 ¢) 35 d) 15
a) 28 mm]”"'ﬁ%’%ﬁa?wﬁw 8 & waryg | &2 Afun T | 8.

b) 45 :
2. An article | ¢) 35 d) 1
?mfmhu':,m'dm profit of 20%. If the cost price is increased by 10% and the sale price by
2 Ta0g o centage of profit reduces by 5%. Determine the cost price.
fé =z 3 b) ¥ 400 ¢) % 500 d) T 600
wwﬁgﬁ%émﬁmwﬁlﬂmhm|mﬂmﬂmﬁﬂ 26
a) T 300 &'QWQW%SMQNWMW}JHWHQI 9.
b) ¥ 400 ¢) T 500 d) 600

3. Two pipes A and B
can fill a tank in 20 and 30 hours respectively. Both the pipes are opened to
glmlrd the tank but when the tank is one-third full, a leak df\rﬁopg in the tank through which one-
water supplied by both the pipes goes out. The total time taken to fill the tank s :

a) 12 hours b) 14 hours ¢) 16 hours d) 18 hours '
ﬁ'WQﬁfﬂ'ﬂ&E?‘aﬁwzgmﬁm@Wﬁqﬂnﬁaﬁléﬂ’W'ﬁﬁm 4
BE B 77T § ug 7@ ¥ few faut afenr e 3, 2 9 sar e 3 AR 3 e
W‘?ﬁhﬁﬁlﬁﬂﬁamwﬂmwm%&ﬁmaﬂfmﬂwigw’

a) 12ue b) 14 ufZ ) 16ufe d) 18ure

= SImnmm complete a piece of work in 20 days. 8 women can complete the same work in ¥
32 days. In how many days will 5men and 8 women together complete the same work ?
a) 10 days b) 12 days c) 14 days d) 16 days
8 et fexr & § 20 fest &9 uar a9 Aa® a8 wast G4t dw 32 fest feS yor as 5
Rarett 951 5 wirert w3 8 wieat fws & few dv § faa feat 29 yer gasdt 7
a) Jofes b) 12 few ¢) 14 fos d) 16 fes

~ A train travels a distance of 600 km at a constant speed. If the speed of the train is increased by

5 km/hr, the journey would take 4 hours less. Find the speed of the train. v

a) 25 km/hr b) 50 km/hr ¢) 100 km/hr d) None of these ¢

fem 35 fadga a1t 3 600 fadvites &t gat Ini qaet 17 38 © 9e98 5 fadies yIt e

=gl syt 3, 3¢ GraaT 4 W uie s 35 O argt #F

a) 25 fenft y=t uer b) 50 farit yuFt wier  ¢) 100 fart ySt wier d) fegt few et <t &t ‘

. many litres of water should be added to a 30 litre mixture of milk and water containing
milk and water in the ratio of 7 : 3 such that the resultant mixture has 40 % water in it ?

7 ;,1_.'@'1;@;'3'&?@""&'?)@1!"%%%‘@' 30 Steq funee feu fd8 Steg vt g B odter 3

o @ I = hmge few 40 % Ut IR

s b) 2 ) 3 d) 8

iy The compound interest on a certain sum of money for 2 years at 10% per annum is T 525. The
. :Q'implé interest on the same sum of money for double the time at half the rate percent per annum

i‘if 1590 b) Z 500 ¢) ¥ 200 d) % 800

r 10% 3 2 TSt &€ g5 3a = HEfed fem ¥ 5259 1 @R g muvee feny ware
e =c e U S U

i BE b) T 500 c) Y200 d) T 800




) 8.  The cost of fencing 4
metre wi Square -
'ﬂm;?.? 5uwm e =atlmhl @x 20 per metre is T 10,080, How much will it cost to lay a
Q21030 by % oo he fencing inside the field @ % 50 per sq. metre ?
ce by T 20 Y MHiew 3 fig m)a;ﬂ.suu ) T77,400 wﬂ&) None of these
| mﬁ_é‘ﬂ?éﬁwﬁ‘fammhimwwmmno.usu 1 T 50 y waar
. a) T37.350 57 (3% vitew Sar deura warl= met fdar vour neer 7

.'_,_‘ N I h] T ?3’3““ :
. | o Ehe cost of painting the whole ) T 77,400 d) fegt fed @6 &t 51

' :l)?:ﬂgim'l;hm thfﬂvc'l“mn of me?&“i: "‘“ of a cube at the rate of 13 paise per 5q. cm is
fazfﬂﬁw%y%mﬂaag ,?0 Q;“&“; ¢) 9250 em’ d) 9261 cm’
fea faga e wrmTy ¥ Wehites ¥t wa & Uz aaw & @ T 343,98 31

| ‘a) 8500 cm b) 9000 ¢y’

0. 1fa30 m ladder is placed agai Syl ot
/  the elevation of the ladder 2BANSt a 1S m wall such that it just reaches the top of the wall, then
) 30° ¢) 60° d) 50°

0Hies & U=t 15 viea o g 23
Baet et § 3t { '
=t ferat 3 F2ai PTGy e

. 2 405 c) 60° d) 50°
mﬂn that is nearest in meaning 10 the underline word |
mittee should recommend his name to the government.

quence should be
b) PSQR ¢) RSPQ d) PRSQ

rd or group of words you consider most appropriate for the blank space :

‘of young men was very enthusiastic but your friend alone was
b) complaining © a wet blanket d) sleepy

tion that is opposite in meaning to the underlined word/words :

.I.‘._‘_'_'!-'-_J e to pOlI!lcal pressure. -
i b) unguarded c) exposed d) resilient

her there is any error in any underlined part of the sentence :

S (b) {G} {d)

- which is most appropriate expression of the idiom/phrase :

- | bi
o R ith all ¢) To take on a task that is way t00 big
' “.’ho jzdichessW! d) Someone whom everbody likes

on that indentifies the underlined word in the sentence.
0!
loyal to our country.

b) Article c) Preposition d) Modal

==
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18.  Complete the idiom in the following sentence. :
M)'Pgmndl'u!hef was as pale as 8 when he entered the hospital 3.
d) p=2
a) pony b) ghost c) baby )

19.  Choose the answer that best completes the comparison.
?L Recant : Retract : : Restmin: ___— d) rescent 32,

a) Faretell b) curb ¢) entertain

20.  Choose the option which best expresses the given sentence in Indirect speech.

He said to her, “What a cold day!”
8) He exclaimed sorrowfully that it was cold day. 3
b) He exclaimed that it is a cold day- K
¢) He exclaimed that it was a very cold day.
d) He told her that it was a cold day.

%ﬁwameﬁm—mmmﬁ.mmwﬁﬁ: 5
b) fo o) B d) FeET v
o7 feg AEOSEX

frraar & &t et 9 iz & Sarder, €WE et werw HEAT

& g
%a’iéﬁ b) &t 0 & d) 7E6
I

ua;ﬂaﬁa%zﬂﬁsﬁa@mﬁnawaﬁhaﬁfwﬁpmwfﬁfaﬁw

23.
vay o b) HeTES c) famr femr d) femr

24. W?W#ﬁwéﬁﬁ@ﬂﬁm@ﬁﬁ?ﬂaﬁﬁéﬂﬁﬁ?wmﬁw
YETE 9
-a) AUGS fafonr feRmE o) fimfes fafonr feRmz
b) Awer fafenr fermz d) fermz

35w ad feg B dor wreHt 93 Fawers (B, WS 3 wiom sfent § <3 91 ¥ feE
wifeardt feRmz T
a) fH3 b) Uid ¢) I9a d) &8

26. 35 fou AEE Ayot e faoer mee-A9 UY R T
a) Saiwr, fagaer, fows c) saner, fewze, fowe
b) Fater, aoFe, foua d) aaier, e, oy

27, Bre foftmr w3 it uz I foor At fa 80 ye 73 3 Ul fomm == fes 33 faees &

YETE a9
) b) fofim ¢) UgY dy ot

a) R few 3 95 b) TEENT BaEt ¢) IBIAET  d) I T 3T I=

| mﬂa*ir»rq;%@efanm o) 3 & niufamit Ugt ¥ wiarfont & afamy
- g & waitonr & afnn| d@%%m&»ﬁﬂ?bﬁmﬁsﬁiﬁeﬁlm

b) Moo T c) feri-zram dy & |
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' ) o (pief Justice of India 7
| W been appointed as the 47" C1' ¢) Justice i‘; ﬂ';?.dnfm
ustice AK Mis e P

' :g mﬁ gm d) FRfeR nirg M. FIHE
a1, responsible for browning of apples i :
a) Alkaline phosphatase  b) Lipase
' a1

e @ Gewet wed T :

8) i dnegdw  b) STEUN c) feBZartan d) tafedn
_Ofifon peel is a rich source of :
‘a) Lycopene b) Quercetin ¢) Carotene
fipwr e fewar or feg @7 73 JI
a) sfgits b) anEfes ¢) &5AE d) maEmfefss

¢) Phenoloxidase d) Pectinase

d) Anthocyanin

43. Major fruit sugar is :
" ) Glucase b) Fructose o) Fadiise d) Dextrose
w5 feg i iz T
sy amaT b) g ¢) Baew d) Sawen
ajor organic acid contained in apple is
a) Citric acid 'b) Tartaric acid ¢) Malic acid d) Ascorbic acid
w e iy dfea nife _ derdl

erd ation | 2. Starch aggregates and forms micro-crystals

. B lose

1on E*?'murﬁlmnoseﬁngsg nupb e - i
E__ I iiﬁhﬁ':ﬁirﬁ.lml derivatives. Pen up by pyrolytic reactions to
¢) P-1,Q-2, R-3, -4
d) P-1,Q3, R4, 52

x

o

s '-2-_.__..____ “*“'ﬂiﬁé‘mﬁn@m—_m s

— ¢ WWWW i g

C} P'li Q'z,hR-:i_gI__'_—"—-————_—-—-"'
d) P-1,Q-3, R4, 5.2

e -






3+ SA mineobial kill of 99.99% Baqelme FHE ) 6log cycle d) 3 log cycle

a) 2 log cycle b) 4 log cycle
99,999 &t fear wrfeahve fas S S0Ea d | _.
a) 2 SaT AElES ¢) 68aT AElES
b) 4 SaT FElES d) 3 Za1 AEtas
Shredded starting ch of the following fermented food 7
‘sj/ar) Snuarl:nﬁise e b) Picll:lr:l s c‘; G:een ;m:lg d) Sausage
ﬂmmw@ammmmwmm -
a) Fnede b) nEE ¢) TWHFS d)
57.  The crushed used for wine manufacturing is also known as :
a) H::Sh —— b) Must ¢) Pilsener d) Wort
a) Ju b) HFE ¢) fushss d) gz

58. Which among the following is called as filamentous bacteria ? -
a) Mycoplasms 'b) Spirochetes c) Actinomycetes d) Vibrios

mmﬁ#mﬁmmmwa;
= ) ruTfea ¢) WafesHEHen  d) = fedien

¢) an exotoxin and cytotoxin
d) acytotoxin only

¢) WAL G MI Arfeeeafns
d) frge mfecdafis

¢) Fusarium spp.

d) Streptococcus spp.

d) Lysine

d) ZTEmEls

c) 12- 14% d) >14%
-@Hgmammma |

1 ' c) 12-14 % d) >14%

v .._.._-____|:._|_-';J';? t'a'.r .zis-'dﬂne 1o :

C) prevent microbial activity
d) all of these






70. kiness in rice is attributed 1o :

ill a) high moisture at harvesting c) mature kernels
| J ) low moisture at harvesting d) none of these
i 95t feg vaz wragEs J |
J a) T 2T G5 ot ¢) ufala aoasH
( b) et 2 we @it o) fegt feg @ AN

71, chief muscle pigment is : .
a) Myoglobin b) Myoerythrim ¢) Myocyanin d) Myocholine
WY HRUHT fuami'e ol

a) HieGaEfes by wfeGfeddhe o) wieGwiefss  d) WTEGASTS
7.2/. The objective of heating milk to about 65°C before homogenization is 10 inactivate :

. ﬂ a) invertases b) lactases @hpw;; i d) glucose oxidase
| ' RHgUaes 3 ufTst Sadies 65°C I €0 § 90M a96 ©F §2F & AHTE ol
a) fes=aew b) &aeH ¢) Brfei d) a@'&‘ﬁm
Vllbwmﬁwmmle which acts as a vehicle for oxygen storage is : .
a) Hemoglobin b) Myoglobin ¢) Metmyoglobin d) methemoglobin

WU fegsT fuante & Waris © JIT9s BE EUE O aW J9ET J "

a) TieEERES b) HGETS s ¢) HeWGaTsias. d) HedtHeeTaiEs
of common salt in curing of meat is :

fix the colour of meat ¢) to guard against rancidity

to provide desirable flavour @) to improve the water binding quality of meat

9% W3 R (curing) few wini g & gher 3
dl ¢) ﬁ?ﬂh?’!ﬁ?m@a’m
d) itz St wat a1E greeuar § feuse e Bel

) protein content ¢) age of the bird d) size of the bird
ﬂm%ﬁaﬁuwwﬁl
b) Uets ©f Hraer ¢) st &t Eva d) U=t mag

: 1-:. mm‘e digm'bte than the meat proteins because :

, mwfﬂ'ﬂ'waﬁm
ﬁmﬂz'ﬁ’rm

iets is supplemented with fish because, fish is :
| methionine c¢) more digestible than other flush
ioni d) less digestible

3 o et @ v yoa 3 fa@fa i@ 3
BTG ©f We gut ¢) JOSBH &'B e guv gat

== ) ;
Damas W iim___ 4n « Tal _RA



b) Prominent e¥es, et roq L Potdingy 580 31 7
 EmmomnmSTe
0l red gills, “";mm vem_.mﬂ_ﬁw?

b G, S e ST

5} As .
" Pergillusspp. ) Bacillus spp. d) Candida spp.
sk :’Iil-lli'i"'m o : .
IR, b) Mt A, o) stemim R, o) EateTAR AR
Owing method of fish liver oil extraction gives more yield 7

2 ¢) Method of steaming
3 = d) Method of chemical digestion
¢) FetfHar € Sar
d) FFrfess Wes € €4
r blanching fruits and vegetables is :
¢) for long term preservation of the products
d) to prevent bacterial action

far o My qas 3
- ¢) At I Gouret @ HITE S BE
mgﬂ d) Wﬁ‘ﬁ'ﬂ'ﬂﬂ{w

1 citrus fruit juices is due to:
s Cr .l“b) Hesperidin - c)%Naringiﬂ d) All of above
mato is duebt;: Limﬂﬂi“ c) Lycopene d) Fructose
& Wj‘@' ol 5 5
0 fo o) Hfeauis d) geH
ymatic browning is kncnl“;" :st:rowning ¢) caramelization d) both () and ©)
byl rfe A o
. o amEenEs 9 = @O



(\;)/Tss of tomato ketchup should not be less than -
) 25 ° Brix

b) 30°Brix c) 20° Brix d) 20-23° Brix
eHE A = it v, % iz a7 gar g | :
9 258 W (Brix)  b)30°FEW(Brix) o) 20° R (Brix) ) 20-23° AW (Brix)
Lemon juice is passing through a SS pipe of 1" diameter(schedule 40). The specific gravity of

lemon juice is 1.05 and its viscosity is 2.5 cp. The volumetric flow rate of the juice is 60 fpm.
The Reynolds number is :

a) 2004 b) 40000 ¢) 10000 d) 20400
g wram 1 femrm (rag 40) @ AT A wrfew 9 s foar 31 g aw < fefimre dfed
105 & wiF femarfiet 2,5 M, 31 a7 & Jmyifer yera w7 60 WS M AH. T1 a8

86.

Fifer 3 \
a) 2004 b) 40000 ¢) 10000 d) 20400

8 By keeping food cold, the growth of micro-organisms is : 5
a) increased b) minimized ¢) not changed d) completely stopped and ied
FHE § 3T awT FE, guM HiR-Hgnt e feaw el

Tuer b) urzer ¢) &1 wemEr d) e Y I AE HI T
88,/ The undesirable change in a food that makes it unfit for human consumption is referred to as:
/" a) food decay b) food spoilage  c) food loss @) all of these

fait F7 few miewrs wewm 7 fong Wit wuz wet woEr 52T 05, § i

8) 75 fee rgie b) Fus feu fears o) Fasergaws  d) QuEEI AT

” a) harmless bacteria c) friendly bacteria
b) disease causing bacteria d) none of these
&) TATafo3 FFSE ¢) fagardt Fadtdmr
Far Uer aus T8 Fad d) fegt feg agt St ot

uirements for microbial growth include : 1
favorable osmotic pressure c) light, oxygen “

L] -:-

ure d) all of these
' ¢) \ETH, WEHIHG
d) Susazma
 fiber board carton holding several units of canned fruit is an example of ;
packaging c) tertiary packaging E
y packaging. d) quaternary packaging \
g TEleg Haw © 9 &g i Fande Tt i et ufser o
; b) Adsdt Uafifar ~ c) ededt Uafider d) gregadt et |
fithe following packaging material is inert, transparent, heat processable ?
. b) Plastic c) Glass d) Metal
e fau=t Usafiier mismt fafyrdte, uewent, 3uw yfafamits 3 7
__-/'/__F-E
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" - d) misleading
o |
st 4 ) BN 2
1¢ totlowing is true about death time curve method i
Fong, . to steril ed

the heat penetration of the co
Srleds tr Of the container
 the heat conductivity of the cﬁntain:r

. ."-maﬁaaw'ﬁﬁ-waammmﬁmar

‘packaging of food industry, which among these was never a material of

| pottery and vases ¢) iron and tin plated steel @ ceramic
o fefa fg, fegst 29 faast mifat s < Ofdar se odt <ot

b) it g n3gees o Forw fzs feuen Réts d) fraha

t can be found in PET bottles ?

compone b) Aluminium @ Phthalates d) Styrene monomers
o a1
FIET FAATGEd UTTdH e AT AEET L
: by WM o) TEBA d) FeTfedts HoHaH
- . . 1 e chemically inert ?
_llo\lﬂng Pagl)mirglmalﬂﬂal IS G) Faper d) plaSllC
- v apfeed Fg'FmoaTd ?
b ¢) TIH d) usTfed
P e T
13 : Set-B




v ing to CODEX standards ?
101. Which of the following food item is hypersenst Wﬁrf::mdum d) All of these
/  a) Cereals b) Nuts 3 fausHe T 1
>< ﬁsfsw.hﬁ‘ﬁaﬂmqﬁm-ﬂmm”gé d) GUIIT R k0% :;
a) gt b) fardtort oysBre e ¥
102. What is HACCP system for ? T
. iological Hazards )
2 P, Chmicl s DRSBTS, o e e )
e el it -ngmwmhmnls 109, :
wg @ AR frwey fam set 3 7 . ;;
a) g, anfees w3 Fiw-fefamas ) Y
by HTE e i s feRiwe wi fadgee fignt & feona feara = c)
o) Ht i o v g ; @t @ WA, fedt wd ufefani” AR d)
d) Fva ot rerel @ et €t Rt faEETat _ : Iz
A€ per the definition for Food under the Food Act in India, Food does nof include : af
' Z;}, sy me . d) chewing tobacco b)
3w &9 g7 wae € 39, Fwe O ufsawr wigwe, IWs T EHE &t T ¢)
2) HaH Ui b) AStaes i ¢) fa@féarai d) dug gwge d)
/ 110.-FS
fo
c) pollution control )
d) population control e
; &8 sfieer J1 i
b) TIEHUETE o) YOS faniges  d) weel fevigas 2)
y can be classified as physical hazard ? 11L~W)
gebottle c) Aflatoxins in roasted groundnuts a)
e of bre: d) All of the above :}
1 ® gu s At dter e 4 7 d)
FAYETZAT  c) 381 0¥ HaRst feu newtaivs e
= d) Sumz g a)
. b)
st violations®. This is covered under : ¢)
¢), Product integrity a0
dj All of these !
G s e SR LI vt e - g
i d) Q*-Iﬁil?ﬂ'ﬁ' a) 1
ee 1o little day-to-day jobs is related to which of the followit 113, wh
a) |
¢) Complaint handling d) All of these few
7 GaTaT @ Jfw Tt 3 faw g s miag 07 a) |
c) fﬂﬂ'fE?l{ﬁﬂE d) @uﬁaszﬁ'
e ——
——"/ FsS0




E —

8) Finished product monitoring " ""4er Finished Product Quality Assurance’ ?
b G Buryey ¢) Factory visits
@ d) None of these
T @ i @ afra ave 5 37
c) Smedt ¥
d) fegt fad &t <t st

practice related to “Use by dates” in pre-packed

:;’ gﬁmw ;u'uu food past s o, 004 Polsoning

d) None of these 'sposed of immediately om::lifis past its “use by date”

2) FeT €9 09 T8 7 few wrom e

L - HT 3 7 7w Ufenfaar Farea

b) 350 O st i < et 2 o
G ;ﬂmﬂﬁ”ﬁw!ﬁ*mmﬂréwm%

ag] m : ' : . 4
advisory banning the use of which material for wrapping and packaging of

&8 HeuT nifaerr € freren \t-la 3ws fde &dt

| b) plastig c) polythene d) none of these
- wﬂt%ﬁawﬂ At &t § faw féT vre- e Tt =Rat § <8
forast miaet €t =93 '3 wid 5t T 7
b) usHfea ¢) ustEs d) fegt feo &t <t &dt

cropping ?
per d between two cropping seasons.
‘or more crops in random mixture
ng of tw ‘or more crops in definite row patterns
of different crops on a piece of land in a preplanned succession

He -ﬁ'ﬂ'é-ﬂ*@‘ﬁ’é"ﬂaﬂﬁﬁ‘@ﬂ@@ﬁ

Ffg et e ¥ JueHst § Gerderd
W@ffﬁ?mﬂﬁﬂfiﬂgﬂ%‘iﬁﬁ‘&"ﬁm@ﬁ
following is NOT an insecticide ?

b) Sodium Chlorate ¢) Aldrin

Steama &9l 4 ! .

b) AEH aBoe c) MEfas d) HEaHEse
can cause plant genes 10 move from one linkage group to another ?
c) X-rays d¢f Translocations

d) Methoxychlor

f the following

b) Deletions ©) X :
- u-:ﬂ@%mﬁfﬁfi'ﬂféﬁﬂﬁﬁaa‘gﬂmmgmﬁ <
EEVHI D k 3
= b) fa@THaA ¢) MAR-T 5 &
____.————'__-____-__-
e
paper-1l page- 15 ¢ Set-B



114, Karnal Bunt is a disease of : ' i
a) barely crop b) wheat crop ¢) bajra crop d) jowar
TI&'S ¥ @t fanrdt 3 1
~RAG b) FSH-BAS ¢) HHT-EHE d) F=S-BRE
Acid rain is caused by the emission of which gas into the atmosphere ? N
a) nitrogen b) argon ¢) carbon dioxide d) sulphur dioxide

Fursit waw fo d @ Tropies e faam aas 9o T 7

a) STERHS b) MEIE ¢) FTEE FEMAAES d) FE5ed STEMTERTETS
116, ~Black soil is ideal for cultivation of cotton as
"\ a) its colour is black ¢) it is made up of lava

d) it is found on plateau regions

b) it can retain moisture

Fury ot ¥t @t arst it €3 T falia

a) ﬁﬂﬂrim“ﬂ"ﬁ"'ﬁ c) feam=3 gt det

b) feg &t § Baes dy AEet J d) feg woTe fesma fg UEt wiEt 9

117. Gir Sahiwal, Red Sindhi, and Deoni are the breeds of :
< gwm | b) sheep c) cows d) goat

W b) I° c) gt d) Hagmt
ped every year is known as :
__ b) certified seed ¢) foundationseed  @j hybrid seed
& gefEmT Arer J, eH AfeEnr AT |

b) e =t ¢) sfenet g d) Treifas gt

o changes in temperature is called :

_b_} vemalisation c¢) photoperiodism d) none of these

it IS A19E Ufent © UdEE & farar wier

| b) TTEBEHRE ¢) SeutdiGfam ) fegt fes gt <t ot
y rate of leaf litter is found in :

:ests ¢) low land tropical rain forests
_ d) temperate grasses
BT S € v &9 uret it I
¢) IBBIETS) s eafims 1/ Sare
d) IuFurg e

o | g | o

ce for Rough Work



Recruitment Test for the Post of Food Safety Officer
Date of test : 15-03-2020 (11.00 AM to 1.00 PM)

Provisional Answer Key - Set B

Q. No. [ Answer | Q. No. [ Answer | Q. No. | Answer [ Q. No. | Answer
1. D 3. B 61. D 91. B
2. b 32, b 62. 2 92, L
3 c 33. A 63. D 93, D
4. D 34. A 64. D 94, A
S. A 35. B 65. c 95. L
6. A 36. A 66. A 96. A
7. B 37. Cc 67. A a7. D
8. b 38. L 68. A 98. L
) D 39, H 69. G 99, c
10. B 40. Cc 70. A 100. A
11.| D 41, [ 71, A 101. D
12| A 42. 5 72. & 102, o
5] © a3, B 73. - 103. D
14. D 44. c 74. B 104. B
15.| B 45 A 75. c 105. A
16. B 46. D 76. 8 106. ¢
7. Cc 47. B T7. B 107. A
18. B 48. o 78. c 108. D
19.] B 49. A 79. A 109. t
20. Cc 50. A 80. A 110. A
2.1 A 51, [ 81, B 111, c
22.| A 52. D 82. A 112. s
23. D 53. D 83. c 113. D
24| A 54. c 84, B 114, B
25.| D 5. 5 8. A 115. D
26. B 56. A B6. D 116. B
27.] B 57. B 87. B 117. c
.| D 58. c 88. - 118. D
29.] D 59. - 8a. 5 119, A
30. A 60. A 90. D 120. c




